Bull. Korean Math. Soc. **53** (2016), No. 2, pp. 479–486 http://dx.doi.org/10.4134/BKMS.2016.53.2.479

FINITE GROUPS WITH A CYCLIC NORM QUOTIENT

JUNXIN WANG

ABSTRACT. The norm N(G) of a group G is the intersection of the normalizers of all the subgroups of G. In this paper, the structure of finite groups with a cyclic norm quotient is determined. As an application of the result, an interesting characteristic of cyclic groups is given, which asserts that a finite group G is cyclic if and only if $\operatorname{Aut}(G)/P(G)$ is cyclic, where P(G) is the power automorphism group of G.

1. Introduction

The norm N(G) of a group G, first introduced by R. Baer [1] in 1934, is the intersection of the normalizers of all the subgroups of G. It is clear that N(G) is a characteristic subgroup of G and it contains the center Z(G). Also N(G) itself is a Dedekind group, and every element of N(G) induces a power automorphism on G. Many authors have investigated both N(G) and how N(G) influences the structure of G (see [2], [3], [4], [9], [10] and [11]). For instance, Schenkman proved that $N(G) \leq Z_2(G)$ for any group G (see [9]), and Baer showed that a 2-group G must be a Dedekind group if the N(G) is nonabelian (see [2]). In [10] and [11], the authors have determined the structure of a finite group G satisfying |G: N(G)| = p or pq, where p, q are primes. In this paper, finite groups with a cyclic norm quotient are determined, see Section 2.

Based on the above result, we will establish a characteristic of cyclic groups. Recall that a power automorphism of a group G is an automorphism that leaves every subgroup of G invariant. Under such an automorphism, every element of G is mapped to one of its powers. All power automorphisms of G constitute an abelian normal subgroup, denoted by P(G), of $\operatorname{Aut}(G)$. The structure of Gand P(G) are strictly linked (for example, see [5], [12]), especially the quotient group $\operatorname{Aut}(G)/P(G)$ strongly influences the structure of G. In [11], groups satisfying $|\operatorname{Aut}(G)/P(G)| = 1, p$ or pq are completely clarified. In Section 3,

O2016Korean Mathematical Society

Received February 22, 2015; Revised July 29, 2015.

²⁰¹⁰ Mathematics Subject Classification. Primary 20D10, 20D20.

Key words and phrases. norm, cyclic group, power automorphism.

This work was partially supported by the National Natural Science Foundation of China(11171169).

we shall prove that a finite group is cyclic if and only if $\operatorname{Aut}(G)/P(G)$ is cyclic. This characteristic of cyclic groups generalizes some results in [11].

All groups considered in this paper are finite. In the following, $G = B \ltimes A$ denotes G is a semidirect product of two subgroups A and B, where A is normalized by B, and $\exp(G)$ denotes the exponent of G. Other notation and terminology not mentioned here are standard, see [6] for instance.

2. Groups with cyclic norm quotient

In this section, we will determine the structure of finite groups with cyclic norm quotient.

Lemma 2.1. A group G is a Dedekind group if and only if G = N(G).

Lemma 2.2 ([10, Lemma 2.1]). Let A and B be subgroups of a finite group G such that $G = A \times B$. If (|A|, |B|) = 1, then $N(G) = N(A) \times N(B)$.

Theorem 2.3. Let G be a finite group. Then G/N(G) is cyclic if and only if G is nilpotent with P/N(P) being cyclic for every Sylow subgroup P of G.

Proof. If G/N(G) is cyclic, then $G/Z_2(G)$ is cyclic by [9], and so G is nilpotent. Suppose that $G = P_1 \times P_2 \times \cdots \times P_t$, where $P_i \in \operatorname{Syl}_{p_i}(G)$, $i = 1, 2, \ldots, t$. By Lemma 2.2, we have $N(G) = N(P_1) \times N(P_2) \times \cdots \times N(P_t)$. Hence, $G/N(G) = P_1/N(P_1) \times \cdots \times P_t/N(P_t)$, and each $P_i/N(P_i)$ is cyclic.

Conversely, if G is nilpotent, then $G/N(G) = P_1/N(P_1) \times \cdots \times P_t/N(P_t)$, where $P_i \in \text{Syl}_{p_i}(G)$, i = 1, 2, ..., t. If each $P_i/N(P_i)$ is cyclic, then G/N(G)is cyclic.

From Lemma 2.1 and Theorem 2.3 we see that, to determine groups with cyclic norm quotient is only need to determine non-Dedekind p-groups with cyclic norm quotient.

Lemma 2.4. Let P be a finite p-group. If N(P) < P, then N(P) is abelian.

Proof. Since N(P) is a Dedekind group, it follows from [8, Theorem 5.3.7] and [5, Theorem 6.5.1] that N(P) is abelian.

Lemma 2.5. Let P be a p-group with N(P) < P. If $P = \langle N(P), a \rangle$ for some $a \in P$, then $o(a) > \exp(N(P))$.

Proof. By Lemma 2.4, N(P) is abelian. Let y be an element of maximal order in N(P). Then $N(P) = \langle y \rangle \times B$ for some $B \leq N(P)$. If $a^y = a$, then there exists $b \in B$ such that $a^b \neq a$, and so $a^{yb} \neq a$, o(yb) = o(y). This shows that N(P) has an element, say g, of maximal order such that $a^g \neq a$.

Suppose that $C_{\langle a \rangle}(g) = \langle a^{p^r} \rangle$, where $r \geq 1$. Let $x = a^{p^{r-1}}$. Suppose that $o(x) = p^n$ and $x^g = x^t$. Clearly $n \geq 2$ since $x^g \neq x$. Noticing that $[x^p, g] = 1$, we have $tp \equiv p \pmod{p^n}$ and $t \equiv 1 \pmod{p^{n-1}}$, and therefore $x^g = x^{1+\mu p^{n-1}}$ for some positive integer μ with $(\mu, p) = 1$. Choose a positive integer δ such that $\mu \delta \equiv 1 \pmod{p}$. Then $o(g) = o(g^{\delta})$, and $x^{g^{\delta}} = x^{1+\mu \delta p^{n-1}} = x^{1+p^{n-1}}$.

Replacing g by g^{δ} , we may assume that $x^g = x^{1+p^{n-1}}$. Let $Q = \langle g, x \rangle$. It is clear that $Q' = \langle x^{p^{n-1}} \rangle \leq Z(Q)$ is of order p, and then for any $u, v \in Q$, $(uv)^p = u^p v^p$ if p > 2, and $(uv)^4 = u^4 v^4$ if p = 2. Take any $z \in C_P(Q)$. Since $\langle x, z \rangle$ is abelian, according to [8, Theorem 13.4.3] there exists an integer l such that $z^g = z^l$, $x^g = x^l$, from which we deduce that $l \equiv 1 \pmod{o(z)}$, $l \equiv 1 + p^{n-1} \pmod{p^n}$. If $o(z) \geq p^n$, then $l \equiv 1 \pmod{p^n}$, and therefore $p^{n-1} \equiv 0 \pmod{p^n}$, a contradiction. Hence $o(z) < p^n$ and $\exp(C_P(Q)) < p^n$, especially $\exp(Z(P)) < p^n$. Also as $g^p \in Z(Q) \leq C_P(Q)$, we get that $o(g^p) < p^n$, p^n , and so $o(g) \leq o(x)$.

If o(x) < o(a), then $o(a) > \exp(N(P))$ by the maximality of g. The remainder of the proof is to deal with the situation o(x) = o(a), namely x = a. Now assume by way of contradiction that o(g) = o(x). Let p^k be the order of the subgroup $\langle x \rangle \cap \langle g \rangle$, where $0 \le k < n$. We consider the following two cases:

Case 1: p = 2 and k = n - 1. Then $\langle g^2 \rangle = \langle x^2 \rangle$, $g^{2^{n-1}} = x^{2^{n-1}}$, and there exists an odd integer s such that $g^2 = x^{-2s}$. It follows that $(gx^s)^2 = x^{2^{n-1}}$. Write $x_1 = gx^s$. Then $(x_1)^2 = x^{2^{n-1}} = g^{2^{n-1}}$ and $Q = \langle g, x_1 \rangle$. If $n \ge 3$, then $o(g^{2^{n-2}}x_1) = 2$ and g acts trivially on $\langle g^{2^{n-2}}x_1 \rangle$, which implies that Qis abelian since $Q = \langle g, g^{2^{n-2}}x_1 \rangle$, a contradiction. Hence n = 2, and $Q = \langle g, x \mid x^4 = 1, g^2 = x^2, x^g = x^{-1} \rangle$ is a quaternion group of order 8, and Z(P)is elementary abelian. Moreover, since N(P)/Z(P) acts faithfully on $\langle x \rangle$, we have N(P)/Z(P) is of order 2, and $N(P) = \langle Z(P), g \rangle$. So $P = \langle g, x \rangle Z(P) = \langle g, x \rangle \times B$ for some $B \le Z(P)$. By [8, Theorem 5.3.7], we know that P is a Dedekind group and P = N(P), a contradiction.

Case 2: either p = 2 and $k \le n-2$ or p > 2. Then $\langle g^{p^{n-k}} \rangle = \langle x^{p^{n-k}} \rangle$, and there exists an integer s such that $g^{p^{n-k}} = x^{-sp^{n-k}}$, where (p, s) = 1. It follows that $(gx^s)^{p^{n-k}} = 1$. Write $x_1 = gx^s$. Then $x_1^{p^{n-k}} = 1$ and $Q = \langle g, x_1 \rangle$. Since $|Q| = p^n p^{n-k}$, we have $o(x_1) = p^{n-k}$ and $\langle g \rangle \cap \langle x_1 \rangle = 1$. Thus $Q = \langle g \rangle \ltimes \langle x_1 \rangle$ is a semidirect product of $\langle g \rangle$ and $\langle x_1 \rangle$, and $n-k \ge 2$. Let m = n-k. Note that $1 \ne [x_1, g] \in Q'$, and so $o([x_1, g]) = p$. Consequently, $\langle [x_1, g] \rangle = \langle x_1^{p^{m-1}} \rangle$ and $x_1^g = x_1^{1+jp^{m-1}}$ for some positive integer j, where (j, p) = 1. It is no loss to assume that $x_1^g = x_1^{1+p^{m-1}}$. Let i be an integer such that $(gx_1)^g = (gx_1)^i$. Then $gx_1^{1+p^{m-1}} = g^ix_1^i[x_1, g]^{\frac{i(i-1)}{2}}$, from which we get

$$1 \equiv i \pmod{p^n}$$
 and $1 + p^{m-1} \equiv i + \frac{i(i-1)}{2}p^{m-1} \pmod{p^m}$.

Since $m \leq n$, the former congruence implies that $1 \equiv i \pmod{p^m}$, and so $\frac{i(i-1)}{2}p^{m-1} \equiv 0 \pmod{p^m}$. It follows from the latter congruence expression that $p^{m-1} \equiv 0 \pmod{p^m}$, a contradiction. This completes our proof. \Box

Theorem 2.6. Let P be a p-group with N(P) < P. Then P/N(P) is cyclic if and only if $P = \langle B, g \rangle \ltimes \langle x \rangle$, where $\langle B, g \rangle$ is an abelian group generated by

a subgroup B and an element g, $\langle x \rangle \leq P$, and the subgroup B, the elements g and x satisfy the following properties:

(i) $o(x) = p^{n+m}, o(g) = p^r, 1 \le m \le r \le n, \exp(B) \le p^n, and n+m \ge 3$ if p = 2;

(ii) $x^g = x^{1+p^n}, [B, x] = 1.$

 $\begin{aligned} Proof. ``⇒`` By assumption, there exists an element x ∈ P such that x ∉ N(P) \\ \text{and } P = N(P)\langle x \rangle. \text{ Suppose that } N(P) \cap \langle x \rangle = \langle x^{p^m} \rangle. \text{ Clearly } m ≥ 1. \text{ We claim that } x^{p^m} \text{ is of maximal order in } N(P). \text{ It suffices to shows that } o(x^{p^{m-1}}) > \\ \exp(N(P)). \text{ Let } Q = N(P)\langle x^{p^{m-1}} \rangle. \text{ Then } |Q:N(P)| = p \text{ and } N(P) ≤ N(Q). \\ \text{If } N(P) = N(Q), \text{ then } Q = \langle N(Q), x^{p^{m-1}} \rangle \text{ with } x^{p^{m-1}} \notin N(Q), \text{ and by Lemma } \\ 2.5 \text{ we have } o(x^{p^{m-1}}) > \exp(N(P)). \text{ If } N(P) < N(Q), \text{ then } Q = N(Q) \text{ and } Q \\ \text{ is a Dedekind group. Note that } [N(P), x^{p^{m-1}}] ≠ 1, \text{ so } p = 2, \text{ and } o(x^{p^{m-1}}) = 4. \\ \text{ It follows that } o(x) = p^{m+1} \text{ and there exists an element } g \in N(P) \text{ such that } \\ [g, x^{p^{m-1}}] ≠ 1. \text{ Suppose that } \langle [x, g] \rangle = \langle x^{p^k} \rangle. \text{ According to } [9, \text{ Theorem}], \\ x^{p^k} \in Z(P) \text{ and therefore there exists an odd integer δ such that } x^{p^k} = [x, g]^{\delta} = \\ [x, g^{\delta}]. \text{ Hence, without loss of generality, we may assume that } [x, g] = x^{p^k}, \text{ and then } x^g = x^{1+p^k}. \text{ Consequently } x^{p^m} = (x^{p^m})^g = x^{p^m}x^{p^{m+k}}, \text{ and } k ≥ 1. \\ \text{ If } k > 1, \text{ it is easy to check that } (x^{p^{m-1}})^g = x^{p^m-1}, \text{ a contradiction. Hence } \\ x^g = x^{1+p}, \text{ and } [x,g] = x^p \in Z(P) \cap \langle x \rangle \leq N(P) \cap \langle x \rangle = \langle x^{p^m} \rangle. \\ \text{ From which we deduce that } m = 1 \text{ and } |P: N(P)| = p, \text{ and therefore } P = Q \text{ is Dedekind, a contradiction. This shows that our claim is true.} \end{aligned}$

By the above result, we get $N(P) = T \times (N(P) \cap \langle x \rangle)$ for some subgroup Tof N(P). Therefore $P = T \ltimes \langle x \rangle$. If T has an element b such that $x^b = x^{-1}$, then $(bx)^2 = b^2$. However, since $P = \langle N(P), x \rangle = \langle N(P), bx \rangle$ and $bx \notin N(P)$, o(b) < o(bx) by Lemma 2.5, a contradiction. It follows from [7, Theorem 2.19] that $T/C_T(x)$ is cyclic and $o(x) \geq 8$ if p = 2. Let $B = C_T(x)$. Then there exists $g \in T$ such that $T = \langle B, g \rangle$, where [B, x] = 1.

It is clear that $C_{\langle x \rangle}(g) = \langle x \rangle \cap Z(P) = \langle x \rangle \cap N(P) = \langle x^{p^m} \rangle$. Suppose that $o(x^{p^m}) = p^n$. Then $n \ge 1$ and $o(x) = p^{n+m}$. Suppose $\langle [x,g] \rangle = \langle x^{p^i} \rangle, i \ge 0$. Then $x^{p^i} \in \langle x \rangle \cap Z(P) = \langle x^{p^m} \rangle$ and so $i \ge m$. Also there exists an integer k prime to p such that $[x,g]^k = x^{p^i}$ or $[x,g^k] = x^{p^i}$. Replacing g by g^k , we may assume that $[x,g] = x^{p^i}$ and so $x^g = x^{1+p^i}$. Since $C_{\langle x \rangle}(g) = \langle x^{p^m} \rangle$, it follows that i = n, and $x^g = x^{1+p^n}$. Now suppose that $o(g) = p^r$. It is easy to verify that g induces an automorphism in $\langle x \rangle$ of order p^m . Thus $m \le r$. Moreover, $\exp(N(P)) \le p^n$ by the maximality of x^{p^m} in N(P), especially $r \le n$ and $\exp(B) \le p^n$.

" \Leftarrow " Conversely, let $P = \langle B, g \rangle \ltimes \langle x \rangle$ be a group with the stated properties. It is easy to verify that $\langle x \rangle \cap Z(P) = \langle x^{p^m} \rangle$ and $P' = \langle [x,g] \rangle = \langle x^{p^n} \rangle \leq Z(P)$. Let *h* be any element of *P*. Then *h* can be written as $h = bg^k x^i$, where $b \in B$, and *k*, *i* are non-negative integers. Clearly, $h^g = bg^k x^{i(1+p^n)}$. Since

$$h^{1+p^n} = (bg^k x^i)(bg^k x^i)^{p^i}$$

$$= (bg^{k}x^{i})(bg^{k})^{p^{n}}x^{ip^{n}}[x^{i},bg^{k}]^{p^{n}(p^{n}-1)/2}$$

= $(bg^{k}x^{i})x^{ip^{n}}x^{ikp^{2n}(p^{n}-1)/2},$

we see that $h^{1+p^n} = (bg^k x^i) x^{ip^n} = bg^k x^{i(1+p^n)} = h^g$ if p > 2 or p = 2 and m < n, or p = 2, m = n and $2 \mid ik$. For the case that p = 2, m = n and $2 \nmid ik$, noticing n > 1, we have

$$\begin{split} h^{1+2^{n}+2^{2n-1}} &= (bg^{k}x^{i})(bg^{k})^{2^{n}+2^{2n-1}}x^{i2^{n}}x^{i2^{2n-1}}[x^{i},bg^{k}]^{\binom{2^{n}+2^{2n-1}}{2}} \\ &= (bg^{k}x^{i})x^{i2^{n}}x^{2^{2n-1}}(x^{2^{2n-1}})^{ik(2^{n-1}+1)(2^{n}+2^{2n-1}-1)} \\ &= (bg^{k}x^{i})x^{i2^{n}}x^{2^{2n-1}}x^{2^{2n-1}} \\ &= bg^{k}x^{i(1+2^{n})} \\ &= h^{g}. \end{split}$$

Hence $g \in N(P)$, and it follows that

$$N(P) = N(P) \cap (\langle B, g \rangle \ltimes \langle x \rangle) = \langle B, g \rangle \times (N(P) \cap \langle x \rangle) = \langle B, g \rangle \times \langle x^{p^m} \rangle.$$

Consequently, P/N(P) is cyclic of order p^m . This completes the proof. \square

Theorem 2.7. Let P be a p-group with N(P) < P. If P/N(P) is cyclic, then $o(h) > \exp(N(P))$ for any $h \in P - N(P)$.

Proof. Suppose that $P = \langle N(P), x \rangle$ with $|P/N(P)| = p^m$, where $m \ge 1$. Since P/N(P) is cyclic, there exists an unique subgroup series

$$N(P) = P_m < P_{m-1} < \dots < P_1 < P_0 = P,$$

satisfying $|P_{i-1} : P_i| = p, i = 1, 2, \dots, m$. Clearly $N(P) \leq N(P_i)$. If $N(P) < N(P_i)$ for some P_i , then $P_{m-1} \leq N(P_i)$ and P_{m-1} is a Dedekind group. However, from the proof of Theorem 2.6, we see that $P_{m-1} = \langle N(P), x^{p^{m-1}} \rangle$ and $|P_{m-1}: N(P_{m-1})| = p$, a contradiction. Hence $N(P) = N(P_i)$ for all P_i .

Let h be any element in P - N(P). Then there must exists a subgroup P_k such that $P_k = \langle N(P), h \rangle$. Since $N(P) = N(P_k)$, it follows from Lemma 2.5 that $o(h) > \exp(N(P))$.

Remark 2.8. Theorem 2.7 is not necessarily true if we delete the condition that P/N(P) is cyclic. For example, let P be a p-group of order p^3 with the following defining relation

$$P = \langle a, b \mid a^{p} = b^{p} = c^{p} = 1, [a, b] = c, ac = ca, bc = cb \rangle.$$

Since $a, b \in C_P(N(P))$, we have N(P) = Z(P) is of order p. Clearly $a \notin N(P)$, but $o(a) = \exp(N(P))$.

Lemma 2.9 ([11, Lemma 2.7]). Let B be a maximal subgroup of an abelian p-group Q. Then there exist an element $u \in Q$ and a subgroup $A \leq B$ such that $Q = \langle u \rangle \times A$.

/

Corollary 2.10 ([10, Theorem 1.4]). A finite p-group P satisfies |P : N(P)| = p if and only if $P = R \times A$, where

 $R = \langle x, u \mid x^{p^{n+1}} = u^{p^k} = 1, \ x^u = x^{1+p^n}, \ 1 \le k \le n, \ and \ n \ge 2 \ if \ p = 2 \rangle,$

and A is an abelian group with $\exp(A) \leq p^n$.

Proof. We only prove the necessity. Assume that |P: N(P)| = p. Then by Theorem 2.6, there exist $B \leq P$ and $g, x \in P$ such that $P = \langle B, g \rangle \ltimes \langle x \rangle$, where $o(x) = p^{n+1}, \langle B, g \rangle$ is abelian with $\exp(\langle B, g \rangle) \leq p^n, x^g = x^{1+p^n}, [B, x] = 1$, and $n \geq 2$ if p = 2. Noticing that $g^p \in Z(P)$, without loss of generality, we may assume that $g^p \in B$. Hence B is a maximal subgroup of $\langle B, g \rangle$. It follows from Lemma 2.9 that there exist $A \leq B$ and $u \in \langle B, g \rangle$ such that $\langle B, g \rangle = A \times \langle u \rangle$. Clearly $\langle [x, u] \rangle = P' = \langle [x, g] \rangle = \langle x^{p^n} \rangle$, and so there exists an integer δ coprime to p such that $[x, u^{\delta}] = [x, u]^{\delta} = x^{p^n}$. Replacing u by u^{δ} , we can assume that $[x, u] = x^{p^n}$ and therefore $x^u = x^{1+p^n}$. Now let $R = \langle x, u \rangle$. Then $P = \langle B, g \rangle \ltimes \langle x \rangle = A \times R$ as desired. The proof is complete.

Remark 2.11. By Theorem 2.6, a finite p-group P satisfying P/N(P) is cyclic is a semidirect product of an abelian subgroup $\langle B, g \rangle$ and a cyclic normal subgroup $\langle x \rangle$, where B, g and x satisfy the properties stated in Theorem 2.6. In general, if |P:N(P)| > p or $m \ge 2$, then the subgroup $\langle B, g \rangle$ of P may not necessarily be decomposed as $\langle B, g \rangle = A \times \langle u \rangle$ with $A \le Z(P)$. For example, let $B = \langle b \rangle, o(b) = p^m, o(g) = p^{m+1}$, and $\langle b \rangle \cap \langle g \rangle$ be of order p, where $m \ge 2$. Let $K = \langle b, g \rangle$. It is clear that $C_K(x) = \langle b \rangle$. Assume that there exist $A \le K$ and $u \in K$ such that $K = A \times \langle u \rangle$ and $A \le Z(P)$. Then $P' = \langle [x, u] \rangle = \langle x^{p^n} \rangle$. Similar to the proof of Corollary 2.10, we may assume that $x^u = x^{1+p^n}$. Hence $x^u = x^g$ and u = cg, where $c \in C_K(x)$. It follows that $u^{p^m} = g^{p^m} \neq 1$, and $u^{p^m} \in C_K(x)$. Since $C_K(x)$ is cyclic, we obtain that A = 1 and K is cyclic, a contradiction.

3. A characteristic of finite cyclic groups

In this section, as an application of Theorem 2.6, we shall prove a characteristic of cyclic groups: A finite group G is cyclic if and only if $\operatorname{Aut}(G)/P(G)$ is cyclic. For convenience of statement, in the following, we will call a group G a C-group if $\operatorname{Aut}(G)/P(G)$ is cyclic. Since $G/N(G) \leq \operatorname{Aut}(G)/P(G)$, we see that if G is a C-group, then G/N(G) is cyclic, and so G is nilpotent and every Sylow subgroup of G is either a Dedekind group or a group with a non-trivial cyclic norm quotient whose structure has been determined by Theorem 2.6. The proof will be given following several lammas.

Lemma 3.1. A non-cyclic abelian p-group R can not be a C-group.

Proof. Without loss of generality, we may assume that $R = \langle x_1 \rangle \times \langle x_2 \rangle$, where $o(x_1) = p^{k_1}$, $o(x_2) = p^{k_2}$. Then two automorphisms α, β of R are given by

$$x_1^{\alpha} = x_1, x_2^{\alpha} = x_2 x_1^{p^{k_1-1}}; \quad x_1^{\beta} = x_1 x_2^{p^{k_2-1}}, x_2^{\beta} = x_2.$$

484

Clearly, $o(\alpha) = o(\beta) = p$, and $\alpha, \beta \notin P(R)$. If R is a C-group, then there exist an integer i and some $\gamma \in P(R)$ such that $\alpha = \beta^i \gamma$. However, $x_2^{\alpha} = x_2 x_1^{p^{k_1-1}} \notin \langle x_2 \rangle, x_2^{\beta^i \gamma} = x_2^{\gamma} \in \langle x_2 \rangle$, a contradiction.

Lemma 3.2. A non-abelian Dedekind 2-group R can not be a C-group.

Proof. By [8, Theorem 5.3.7], $R = Q_8 \times A$, where Q_8 is the quaternion group of order 8, and A is elementary abelian. Let $Q_8 = \langle a, b \rangle$. Define two automorphisms α and β of R by

$$a^{\alpha} = b, \ b^{\alpha} = a, \ [A, \alpha] = 1; \ a^{\beta} = b, \ b^{\beta} = ab, \ [A, \beta] = 1.$$

Clearly, $\alpha, \beta \notin P(R)$, and $o(\alpha) = 2, o(\beta) = 3$. If R is a C-group, then $6 \mid o(\alpha\beta)$. However, $o(\alpha\beta) = 4$ since $a^{\alpha\beta} = ab$, $b^{\beta} = b$, a contradiction.

Lemma 3.3. A p-group $R = \langle B, g \rangle \ltimes \langle x \rangle$ with B, g and x being the same as in Theorem 2.6 can not be a C-group.

Proof. Consider the automorphism α of R induced by $x^{p^{m-1}}$. It is easy to see that $o(\alpha) = p$, $x^{\alpha} = x$, $g^{\alpha} = gx^{-p^{n+m-1}}$, and $\alpha \notin P(R)$.

If p > 2, or p = 2 and $r \ge 2$, let β be the automorphism of R of order 2 defined by $x^{\beta} = x^{-1}$, $y^{\beta} = y$ for all $y \in \langle B, g \rangle$. Assume that $\langle gx^{p^m} \rangle^{\beta} = \langle gx^{p^m} \rangle$. Then there exists an integer k such that $gx^{-p^m} = g^k x^{kp^m}$, and so $1 \equiv k \pmod{p^r}$ and $-p^m \equiv kp^m \pmod{p^{n+m}}$. Therefore $1 \equiv k \pmod{p^r}$ and $-1 \equiv k \pmod{p^n}$. Consequently, $1 \equiv -1 \pmod{p^r}$, a contradiction. Hence we have proved that $\beta \notin P(R)$. Moreover, since $x^{\alpha\beta} = x^{-1}$, $g^{\alpha\beta} = gx^{p^{n+m-1}}$, it is clear that $o(\alpha\beta) = 2$ and $\alpha\beta \notin P(R)$. If R is a C-group, then $2p \mid o(\alpha\beta)$ when p > 2, and $\alpha\beta \in P(R)$ when p = 2, a contradiction.

For the case p = 2 and r = 1, it must be m = 1 and $n \ge 2$. Note that $(gx)^{2^n} = x^{2^n}$, and so $o(gx) = 2^{n+1}$, $R = \langle B, g \rangle \ltimes \langle gx \rangle$ and $(gx)^g = (gx)^{1+2^n}$. It follows that the map: $x \mapsto gx$, $y \mapsto y$ for all $y \in \langle B, g \rangle$ determines an automorphism β of R of order 2, and $\beta, \alpha\beta \notin P(R)$ since $x^{\alpha\beta} = gx$. Similar to the above proof, we still have that R can not be a C-group. \Box

Lemma 3.4. Let G be a nilpotent group. If $G = R_1 \times R_2 \times \cdots \times R_t$, where $R_i \in \text{Syl}_{p_i}(G), i = 1, 2, \dots, t$, then

$$\operatorname{Aut}(G)/P(G) \simeq \operatorname{Aut}(R_1)/P(R_1) \times \cdots \times \operatorname{Aut}(R_t)/P(R_t).$$

Proof. Clearly $\operatorname{Aut}(G) \simeq \operatorname{Aut}(R_1) \times \cdots \times \operatorname{Aut}(R_t)$. Also by [11, Lemma 3.11], we have $P(G) \simeq P(R_1) \times \cdots \times P(R_t)$. Hence

$$\operatorname{Aut}(G)/P(G) \simeq \operatorname{Aut}(R_1)/P(R_1) \times \cdots \times \operatorname{Aut}(R_t)/P(R_t).$$

Theorem 3.5. Let G be a finite group. Then G is cyclic if and only if G is a C-group.

Proof. The necessity is clear, we only prove the sufficiency. Let G be a C-group. Then G is nilpotent. Suppose that $G = R_1 \times R_2 \times \cdots \times R_t$, where $R_i \in \text{Syl}_{p_i}(G)$, $i = 1, 2, \ldots, t$. By Lemma 3.4, we see that every R_i is a C-group, and so every R_i is either a Dedekind group or a group of prime power order with a non-trivial cyclic norm quotient. It follows from Lemma 3.1, Lemma 3.2 and Lemma 3.3 that every R_i is cyclic, and therefore G is cyclic.

Corollary 3.6 ([11, Theorem 3.2]). A group G is cyclic if and only if Aut(G) = P(G).

Proof. If G is cyclic, then every automorphism of G must be a power automorphism, and so $\operatorname{Aut}(G) = P(G)$. Conversely, if $\operatorname{Aut}(G) = P(G)$, then $\operatorname{Aut}(G)/P(G)$ is cyclic, and G is cyclic by Theorem 3.5.

Corollary 3.7 ([11, Theorem 3.8]). There exists no finite group G such that $|\operatorname{Aut}(G)/P(G)|$ is a prime.

Acknowledgment. The authors are very grateful to the referee who read the manuscript carefully and provided a lot of valuable suggestions and useful comments.

References

- R. Baer, Der Kern, eine charakteristische Untergruppe, Compositio Math. 1 (1934), 254–283.
- [2] _____, Gruppen mit Hamilton Schem Kern, Compositio Math. 2 (1935), 241–246.
- [3] _____, Zentrum und Kern von Gruppen mit Elementen unendlicher Ordnung, Compositio Math. 2 (1935), 247–249.
- [4] _____, Norm and hypernorm, Publ. Math. Debrecen 4 (1956), 347–350.
- [5] C. D. H. Cooper, Power automorphisms of a group, Math. Z. 107 (1968), 335-356.
- [6] B. Huppert, Endliche Gruppen I, Springer-Verlag, New York, 1967.
- [7] H. Kurzweil, Endliche Gruppen, Springer-Verlag, Berlin and New York, 1977.
- [8] D. J. S. Robinson, A Course in the Theory of Groups, Springer-Verlag, New York, 1982.
- [9] E. Schenkman, On the norm of a group, Illinois J. Math. 4 (1960), 150-152.
- [10] J. X. Wang and X. Y. Guo, On the norm of finite groups, Algebra Colloq. 14 (2007), no. 4, 605–612.
- [11] _____, Finite groups with its power automorphism groups having small indices, Acta Math. Sin. (Engl. Ser.) 25 (2009), no. 7, 1097–1108.
- [12] _____, Finite groups with a pre-fixed-point-free power automorphism, Comm. Algebra 41 (2013), no. 9, 3241–3251.

DEPARTMENT OF APPLIED MATHEMATICS SHANXI UNIVERSITY OF FINANCE AND ECONOMICS TAIYUAN 030031, P. R. CHINA *E-mail address*: wangjunxin660712@163.com

486